Name: Weekly Homework Sheet Week 7 Date:
Monday Tuesday Wednesday Thursday
What is the value of the | What is the value of the | Solve for m. Solve the equation.
underlined digite underlined digite
m — 49 = 35 a=12 a+15

1,711,799 4,882,217

7,273,779 4,203,280

Write an equation.

20 is 4 times as many as 5

Write a comparison
sentence.

18=2x9

Maddie has 2 times as many
stickers on her notebook as
Meg. Together, they have 15
stickers. How many stickers are
on Maddie’s notebook?

Write an equation.

6 times as many as 2is 12

Jamie has 3 times as many
baseball cards as Rick.
Together, they
have 20 baseball cards. How
many cards does Jamie have?

Write this number in
expanded form.

5,002,190

Write a comparison
sentence.

9x4=236

Write this number in
expanded form.

283,980

Round this number to the
nearest 100

38,288

Round this number to
the nearest 1,000.

2,042,822

Round this number to
the nearest 10,000

1,995,298

Round this number to the
nearest 100,000.

9,740,399
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Find the Sum. Find the Difference. Find the Sum. Find the Difference.
12,490 4,205 29,867 29,867
+ 3,941 - 3,874 +14938 - 14,938
Jonathan has 3,982 stickers in Jonathan has 3,982 stickers in
his sticker collection. Jessie has | his sticker collection. Jessie
2, 825 stickers in his collection. has 2, 825 stickers in his
How many stickers do Jonathan | collection. How many more 452 + 56.30 3.75+7.8

and Jessie have all together?

stickers does Jonathan have

than Jessie?¢

Complete the

Complete the

Complete the

Complete the

pattern. pattern. pattern. pattern.
/x10=70 9x10=90 3x10=30 5x10=250
/0x 10 = _x10=900 _x10=300 _x10=1500
/00 x 10 =7,000 900 x 10 = 9,000 300 x 10 = 3,000 500 x 10 = 5,000
/,000x 10 = 9,000 x 10 = 3,000 x 10 = 5,000x 10 =

x 10 = x 10 = x 10 = x 10 =
Find the Product. Find the Product. Find the Product. Find the Product.
4x6= b6x6= 7X6= 8x6=
4x8= 6x8= 7x8= 8x8=
4x12= 6x12= 7x12= 8x12=
4x9= 6X9= 7X9= 8x9=
4x7= b6X7= IX7= 8x7=
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Answer Key - Weekly Homework Sheet Q1:4

Monday Tuesday Wednesday Thursday
What is the value of the underlined What is the value of the underlined Solve fOI’ m Solve the equo’rion
digit? digit? ) :
1,711,799 700,000 7,273,779 70,000
4,882,217 200 4,203,280 80 m — 49 = 35 a=12 a+ 15
12+15=27
35+ 49 =84

Write an equation.
20 is 4 times as many as 5

20=4x5

Write a comparison sentence.
18=2x9

18 is 2 times as many as 9

Maddie has 2 times as many stickers on
her notebook as Meg. Together, they
have 15 stickers. How many stickers are
on Maddie’s notebook?

3xn=15 n=5

{ ,

s [ 7]

Maddie

Write an equation.
6 times as many as 2 is 12

6x2=12

Jamie has 3 times as many baseball
cards as Rick. Together, they

have 20 baseball cards. How many
cards does Jamie have?

4xn=20 n=5

Jamie

Rick

Write this number in expanded form.

5,002,190
5,000,000+2,000
+100+90

Write a comparison sentence.
9x4 =236

9 times as many as 4 is 36

Write this number in expanded form.

283,980
200,000+80,000+ 3,000+ 900+80

Round this number to the nearest 100

38,288
38,300

Round this number to the nearest
1,000.

2,042,822
2,043,000

Round this number to the nearest
10,000

1,995,298
2,000,000

Round this number to the nearest
100,000.

9,740,399
9,700,000
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Find the Sum.
12,490
+ 3,941

16,431

Find the Difference.

4,205
-3,874
331

Find the Sum.
29,867
+14,938
44,805

Find the Difference.

29,867
- 14,938
14,929

Jonathan has 3,982 stickers in his sticker
collection. Jessie has 2, 825 stickers in
his collection. How many stickers do
Jonathan and Jessie have altogether?
6,807

Jonathan has 3,982 stickers in his
sticker collection. Jessie has 2, 825
stickers in his collection. How many
more stickers does Jonathan have than
Jessie?

1,157

4.52 + 56.30= 60.82

3.75 +7.8=11.55

Complete the pattern.
7x10=70

70 x10 =700
700 x 10 = 7,000

7,000 x 10 = 70,000
70,000 x 10 = 700,000

Complete the pattern.

9x10=90

90 x 10 =900

900 x 10 = 9,000
9,000 x 10 = 90,000
90,000 x 10 = 900,000

Complete the pattern.

3x10=30

30 x 10 =300

300 x 10 = 3,000
3,000 x 10 = 30,000
30,000 x 10 = 300,000

Complete the pattern.

5x10=250

50 x 10 = 500

500 x 10 = 5,000
5,000 x 10 = 50,000
50,000 x 10 = 500,000

Find the Product.
4x6=24
4x8=32
4x12=48
4x9=36
4x7=28

Find the Product.
6x6=36
6x8=48
6x12=72
6x9=54
6x7=42

Find the Product.
7x6=42
7x8=56
7x12=84
7x9=63
7x7=49

Find the Product.
8x6=48
8x8=64
8x12=96
8x9=72
8x7=56
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